

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CMQS552 6-Pack		
cqs 1	2	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$240.00
2	1	QSCE8CP58	58" Long, Pass Thru Cable	\$ 187.00	\$187.00
3	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
4	3	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$99.00
5	3	QSCE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$99.00
6	3	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$99.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
7	3	QSCE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$99.00
8	2	QSCMFM4236N0	42"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$894.00
			 Skipped Option Grade 1 Textiles - Outside Position 1 Skipped Option Grade 1 Textiles - Inside Position 1 		
			Skipped Option		
9	4	QSCMFM4236P2	42"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 665.00	\$2,660.00
			 Skipped Option Grade 1 Textiles - Outside Position 1 Skipped Option Grade 1 Textiles - Inside Position 1 Skipped Option 		
10	2	QSCMLEP4263NC	42"h x 62.30"w, End of Run Double Sided Laminate Gallery Panel, Both Ends are Finished & Does not Connect, Creates 'I Configuration, Attaching Hardware Included	₋ , \$ 917.00	\$1,834.00
11	2	QSCMLMP4263NC	Skipped Option Skipped Option 42"h x 62.30"w, Middle Laminate Gallery Panel Double Sided, w/Base Electrical Cutout, Attaches Inbetween 2 Panels to	\$ 1,044.0	D \$2,088.00
			Create 'X' Configuration, Both Ends are Finished & Does not Connect, Attaching Hardware Included Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
12	6	QSCMPSEG1236	12"h x 36"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 306.00	\$1,836.00
			Skipped Option CLR Clear Glazed		
13	11	QSCMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$187.00
14	6	QSCS1936P-2F12	Skipped Option 2 drawer, 36" wide, 1900 Series Lateral File, Includes Counterweight	\$ 1,061.0	D \$6,366.00
			Skipped Option		
			Skipped Option WSTD Key Random (STD)		
15	6	QSCSMCP23BFNC	23.875"h x 22.625"d x 15"w, Mobile Box/File w/ 60mm Castors	\$ 829.00	\$4,974.00
			Skipped Option		
			WSTD Key Random (STD)		
GSP					
16	6	OTGHABASE2	OTG Height Adjustable Base Only, 2 Leg, Dual Stage, 23.62"d and 29.53"d Adjustable Depth, 47.24"w -70.87"w Widths, 4 Programmable Positions, Digital Display, OTG HEIGHT ADJUSTABLE, GSP OTG	\$ 891.00	\$5,346.00
			~7124 71"w x 24"d Base		
			~NSP Global InStock Program		
			-		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
17	6	SL7130TOP	30"d x 71"w x 1"h, Rectangular Top, Only, OTG LAMINAT SUPERIOR, GSP OTG	E \$ 248.00	\$1,488.00
			Skipped Option ~NSP Global InStock Program		
			ALIAS SUBTOTAL: \$ 28,843.00		

TOTAL EXTENDED LIST: \$28,843.00